
	gen_1_0 * 0=nedulezita, 1=dulezita Crosstabulation

	
	0=nedulezita, 1=dulezita
	Total

	
	,00
	1,00
	

	gen_1_0
	,00
	Count
	183
	206
	389

	
	
	% within gen_1_0
	47,0%
	53,0%
	100,0%

	
	1,00
	Count
	172
	145
	317

	
	
	% within gen_1_0
	54,3%
	45,7%
	100,0%

	Total
	Count
	355
	351
	706

	
	% within gen_1_0
	50,3%
	49,7%
	100,0%




	Variables in the Equation

	
	B
	S.E.
	Wald
	df
	Sig.
	Exp(B)

	Step 1a
	gen_1_0(1)
	,289
	,152
	3,631
	1
	,057
	1,335

	
	Constant
	-,171
	,113
	2,294
	1
	,130
	,843

	a. Variable(s) entered on step 1: gen_1_0.
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